Images and tables for RLO on confidence intervals

	
	No. of patients
	No. of patients with heart attack
	Relative risk reduction

	Drug A
	10
	2
	33%

	Placebo
	10
	3
	


Table One
	
	No. of patient
	No. of patients with heart attack
	Relative risk reduction

	Drug A
	10
	1
	0%

	Placebo
	10
	1
	

	Drug A
	10
	1
	67%

	Placebo
	10
	3
	

	Drug A
	10
	1
	80%

	Placebo
	10
	5
	

	Drug A
	10
	2
	-100%

	Placebo
	10
	1
	

	Drug A
	10
	2
	33%

	Placebo
	10
	3
	

	Drug A
	10
	2
	60%

	Placebo
	10
	5
	

	Drug A
	10
	3
	-200%

	Placebo
	10
	1
	

	Drug A
	10
	3
	0%

	Placebo
	10
	3
	

	Drug A
	10
	3
	40%

	Placebo
	10
	5
	


Table two

	Measure of effect
	No effect

	Relative risk
	1

	Relative risk reduction
	0%

	Absolute risk reduction
	0%

	Number needed to treat
	infinity


Table three


	
	
	No. of patients
	No. of patients with heart attack
	Relative risk reduction

	Bigger trial
	Drug A
	100
	20
	33%

	
	Placebo
	100
	30
	

	Even bigger trial
	Drug A
	1000
	200
	33%

	
	Placebo
	1000
	300
	


Table 4
	
	No. of patient
	No. of patients with heart attack
	Relative risk reduction

	Drug A
	100
	20
	33%

	Placebo
	100
	30
	

	Drug A
	100
	25
	17%

	Placebo
	100
	30
	

	Drug A
	100
	15
	50%

	Placebo
	100
	30
	

	Drug A
	1000
	200
	33%

	Placebo
	1000
	300
	

	Drug A
	1000
	230
	23%

	Placebo
	1000
	300
	

	Drug A
	1000
	170
	43%

	Placebo
	1000
	300
	


Table 5
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This column would be blank. The student needs to drag and drop the appropriate figure into the box. The figure only stays there is it is correct
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